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B4z | i K £ i ZHE| 50m 30m & F 10 - X fis
1 1A FE BX TERH 2 275 322 597 15 5
2 |78 ik EE FIEHM 2 259 310 569 8 6
3 l1oc WA B |RUBBLIOHK| 2 247 314 561 10 4
4 |1 8B EBH OBR FIEHEM 2 232 317 549 15 3
5 118 O A HRALRE 3 240 300 540 10 3
6 | 5A NE S R % 2 230 302 532 8 0
717A EH & RvR Y 3 229 288 517 7 2
8 | 8A Ere B RvR Y 2 227 289 516 3 0
9 | 2A AH I R % 3 223 287 510 6 1
10]6A ETH £ER B 2 2 226 269 495 6 2
1m1]38 HE K# # | A 2 213 281 494 6 0
12]19A INGRE 2 HARALRE 3 204 279 483 4 1
13]9B il BE |RUBBEHIOH| 2 199 283 482 7 1
141 3A AEM [ R % 3 194 286 480 4 1
5] 4A By B3 R K 3 201 275 476 3 0
16| 4B #E M # | A 2 202 272 474 2 0
17128 ML K3 ERALRE 2 175 294 469 7 1
18 |10 A M MAth PN 3 197 254 451 3 1
19 | 5B| FHREXE # | A 2 184 265 449 7 2
20 [10B N BE | RLBBEEHOHF| 2 141 218 359 0 0
21 | 6B FAR B FEHEM 3 147 185 332 0 0
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1 |14 A FE BEX )| 2 244 287 531 7 2
2 |15 A| fBRE EXRE | 2 206 297 503 6 3
3 |12B =ERBFEF IR 3T 4G 2 202 299 501 6 2
4 |12 A HHEEF )| 2 207 289 496 11 0
5 13 A B E .| 2 224 271 495 5 2
6 |15 C #E FE PN 2 209 270 479 2 1
7 |13B £ UMD |FussroFk| 3 186 272 458 8 3
8 |11 B S o )| 3 184 272 456 4 2
9 |158B #?wAR XK HEARALRE 3 194 252 446 5 3
10 |14B =iE KE  |RUBBLIOHK| 2 164 258 422 4 1
|1 Al &HEH k#& B 2 2 148 243 391 1 1




